GRAPHS & GEOMETRIC PROBLEMS:
I.  GRAPHS:
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Ms. Adams draws an incomplete picture on the board.  Which of the 

following words does not describe the lines in her picture?

                                                          

A.  900

B.  perpendicular
C.  parallel
D.  intersecting
E.  NH

2.
In the problem below, the same shape always stands for the same number.




          +

=  8


· =  5



 + 

=  11

Write the correct number in each shape above.

3.
Each shape represents a certain number. 

                          

                          +                                       =  20    

                          +                                       = 14 

                          +                     +                = 22   

    What number does the triangle represent?


A. 3

B. 5

C.7

D. 9

E. NH
4.        Plot the coordinates (3, 4) and (6, 3) and draw a line to connect  

           the coordinates.                       


5.
Plot these points on the grid below.  (3, 3)   (6,3)   (3, 6).  Then draw three

straight lines to connect the points.  What are the coordinates of the fourth point to complete the rectangle? 
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6.
Finish the number line below, and draw dots or lines to show that n ( 8.

                              

7.
The First National bank is located on Fifth Street and Eight Ave.  A 

coordinate grid of the bank is shown below.
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Three of the corners of the rectangle are shown . What are the coordinates

of the fourth corner of the rectangle?

A.  (2, 6)
B.  (6, 2)
C.  (2, 7)
D.  (7, 6)
E.  NH

8. On the grid below, plot the coordinates (5, 7). 
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Use the graph below to answer questions 9 - 13.

9. Which group of people ranked first in spending money in 1993?

a.   White Americans
    b.  Afro-Americans   c.  Latinos
d.  Other

e.  NH

10.   About how much was spent by Afro-Americans in 1995?

a.   160 million
b.  140 million
c.  200 million
         d.  150 million e.  NH


11.    Which group of people steadily showed an increased in spending from 1993-     

    1997?

a.   White Americans
      b.  Afro-Americans
 c.  Latinos
d.  Other

e. NH

12.    What was the difference in 1998 of the money spent by Afro- Americans and 

    others?

a.  100 million   b.  300 million
c.   250 million
d.  150 million

e. NH


13.      Which group of people had a drastic drop in spending from 1995 6to 1996?

a.  Afro-Americans
b.  White Americans
 c.  Latinos
d.  Others

II. GEOMETRIC PROBLEMS:

On the grid below, six squares are shaded.   After studying the grid below, make a symmetrical design by shading in eight squares on each side of the dark line in the middle.

 

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	


14.
Draw an equilateral triangle, a scalene triangle and an isosceles triangle on the space provided below.

 

Equilateral


 

  

Scalene

 

 

 Isosceles

15.
Which pair of shapes are congruent?

  A.  



B.  







 C.



D.


E.  NH

16.
Which figure below shows parallel lines?






     A


B

C

D

E. NH

17.
The lines below are all the same in length.  Connect the lines together and draw a quadrilateral.



18.
Perpendicular lines stand straight up and touch another line at a 90-degree 

angle.  Which lines below are perpendicular?




A.


B.


C.


D. 

E. NH

19.
Turn the hourglass to show ten minutes to 2:00 and ten minutes after 2:00.


20.
The lines below are all the same length.  Billy needed to draw an octagon for 

his class project and place some designs on the base of each side.












Complete the drawing above to look like an octagon and on the base of each side connect a star.

21.
Place the shape that comes next in the pattern in the space provided?


22.
Which figure below has exactly two lines of symmetry?

A.


B.

C.

           D.

23.
Which pair of shapes is congruent?

 

 

 A.  



B.  


C.  



D.    



E.

24.
What shape is located at the ordered pair (5, 3)?





  6





A.  Happy Face


  5





B.  Heart


  4





C.  Parallelogram


  3





D.  Triangle

  
  2


  1
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25.
Henry has a rectangular shape yard that is 100 feet long and 60 feet wide.  If Henry wants to place a fence around his yard, how many feet of fencing will he need?



              

  Feet












26.
How many faces and edges does a cube have?





Faces  






Edges  

27.
Draw an octagon and on the base of each side draw a circle.

28.
Draw a reflection of this figure.                                 

29.
If you turn this arrow 90 degree clockwise, how would it look? 

                                              

30.
Look at the pattern below.  How many small squares would make the next largest square?

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	

	
	
	

	
	
	


	
	

	
	


	


  

 

 

31.
Which angle is congruent to angle C?


C                      D(
                                                           E  (    
                                                G (
    



               (F                                                                             

32.
Krissie is making planets and moons out of ping-pong balls.  Each

planet has its own moons.  There’s an increase of moons every 

new planet.

     




                                                                                                                                                                                          

                      3                            5                                     7


According to the pattern, how many ping-pong balls will Krissie


use to make a display on the 6th planet?

33.
Keith was doing sit-ups as an exercise.  Keith’s body made these angles

during the different parts of the sit-up exercise.  Which of the pictures  

below, show Keith forming an obtuse angle?

   A.            




B.
   







    C.  





D.





34. 
Which pair of shapes is congruent?









a.   
 
     b.
        
        c.
     
               d.            
      e.  NH

35.
Which figure shows a line of symmetry?



a.


 
   b.





c.






d.



36.
Identify the right angle.



a.    

b.   


    c.      

                   d.   





37.
If you turn this figure 90 degrees clockwise, how would it look? 

                                              

GRAPHS ANSWER SHEET

I.
GRAPHS

1.      
Ms. Adams draws an incomplete picture on the board.  Which of the 

following words does not describe the lines in her picture?










A.  900

B.  perpendicular
C.  parallel
D.  intersecting

2.
In the problem below, the same shape always stands for the same number.




          +

=  8








· =  5
  Answer is in each shape

 + 

=  11


Write the correct number in each shape above.

3.
Each shape represents a certain number. 


                          +                        =       20

                          +                        =       14


                    +                    +                   =        22

    What number does the triangle represent?


A.  3

B.  5

C.  7

D.   9

4.       Plot the following coordinates (3, 4 ) (6, 3) and connect the dots.
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5.
Plot these points on the grid below.  (3, 3)   (6,3)   (3, 6).  Then draw three

straight lines to connect the points.  What are the coordinates of the fourth point to complete the rectangle? 
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Therefore, (6, 6) completes the rectangle

Answer  (6, 6)
8.
On the grid below, plot the coordinates (5, 7). 
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7.
The First National bank is located on Fifth Street and Eight Ave.  A 

coordinate grid of the bank is shown below.
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Three of the corners of the rectangle are shown . What are the coordinates

of the fourth corner of the rectangle?


A.  (2, 6)

B.  (6, 2)

C.  (2, 7)

D.  (7, 6)

Use the graph below to answer questions 9 – 13.


9.
Which group of people ranked first in spending money in 1993?

a.   White Americans
    
b.  Afro-Americans

c.  Latinos

d.  Other

10.
About how much was spent by Afro-Americans in 1995?

a.   160 million
b.  140 million

c.  200 million
         

d.  150 million  
e.   NH

11.
Which group of people steadily showed an increased in spending from 1993-1997?

a.   White Americans
      b.  Afro-Americans
 c.  Latinos
d.  Other  

e.   NH

12.
What was the difference in 1998 of the money spent by Afro- Americans and

a.  100 million

b.  300 million
 
c.   250 million

d.  150 million 

e.  NH


13.
 Which group of people had a drastic drop in spending from 1995 to 1996?

a.  Afro-Americans     
b.  White Americans

c.  Latinos

d.  others

II.
GEOMETRIC

14.
On the grid below, six squares are shaded.   After studying the grid below, make a symmetrical design by shading in eight squares on each side of the dark line in the middle.

 

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	


15.
Draw an equilateral triangle, a scalene triangle and an isosceles triangle on the space provided below.

 

Equilateral



 

 All sides  are the same

 

Scalene

 

 No sides are equal

 


Isosceles


Two sizes are equal

16.
Which figure below shows parallel lines?

Parallel lines never touch





     A


B

C

D

17.
The lines below are all the same in length.  Connect the lines together and draw a quadrilateral.
























18.
Perpendicular lines stand straight up and touch another line at a 90-degree 

angle.  Which lines below are perpendicular?




A.


B.


C.


D. 


19.
Turn the hour glass to show ten minutes to 2:00 and five minutes after 2:00.


















      
        1:50

2:05

20.
The lines below are all the same length.  Billy needed to draw an octagon for 

his class project and place some designs on the base of each side.











Complete the drawing above to look like an octagon and on the base of each side connect a star.
21.      Place the shape that comes next in the pattern in the space provided?




22.
Which figure below has exactly two lines of symmetry?


A.


B.

C.  

           D.


Symmetry – If you fold it in half, the two halves will match exactly.






Step 1.  One pair of lines of symmetry
  Step 2.  One pair of lines   

  

  of symmetry

23.
Which pair of shapes is congruent?

                   Congruent means same shape same size

 

 A.  



B.  



C.  



D.  


24.
What shape is located at the ordered pair (5, 3)?








  6





A.  Happy Face


  5





B.  Heart


  4





C.  Parallelogram


  3





D.  Triangle
  
  2


  1

25.
Henry has a rectangular shape yard that is 100 feet long and 60 feet wide.  If    

Henry wants to place a fence around his yard, how many feet of fencing will 

he need?



              

  Feet






Step 1.  Fencing means perimeter (add all sides)  


100 ft










 60 ft

Step 2.  Add 100 + 100 + 60 +60 = 320 feet is needed to complete the 

                                                         rectangular yard.


Therefore, the answer is 320 feet
26.
How many faces and edges does a cube have?





Faces  
        6
   




Edges 

12


Step 1.  Count all faces  



Step 2.  Count all edges

27.
Draw an octagon and on the base of each side draw a circle.



28.





Draw a reflection of this figure



                      Reflection – Mirrors the image

29.
 How would this figure look if you turned it 900 clockwise?  

                                                                

             Answer                                                      900    900

 900   900

30.
How many squares would be in the next set of squares?

                                                                                                                                                                    16               

	
	
	

	
	
	

	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	


              1              + 3            =             4        +     5          =                9         +   7  =            

	
	

	
	

	


Answer: The next square will be a total of 25.   Pattern 3, 5, 7 & 9

	
	
	
	
	

	
	
	
	
	

	
	
	
	
	

	
	
	
	
	

	
	
	
	
	


31.
Which angle is congruent to angle C?


C                      D(
                                                           E  (    
                                                G (
     (F
      
Angle C is 900.  The only other angle that is congruent or the same 

       
as angle C is angle F.  Which is also 900
     
 Answer:  Angle F

32.     Krissie is making planets and moons out of ping-pong balls.  Each

          planet has its own moons.  There’s an increase of moons every 

          new planet.
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According to the pattern, how many ping-pong balls will Krissie


use to make a display on the 6th planet?

      
Look at the pattern.  Each planet is increased by the next odd 

       
number.  Therefore, planet 4 will have 9 ping-pong balls, planet 5 

      
will have 11 ping-pong balls, and planet 6 will have 13 ping-pong 

       
balls.      

                         Answer:  Planet 6 = 13 ping-pong balls     

33.
Keith was doing sit-ups as an exercise.  Keith’s body made these angles

during the different parts of the sit-up exercise.  Which of the pictures  

below, show Keith forming an obtuse angle?

An obtuse angle is more than 900 but, less than 1800.

A.            


B.
   

                                   More than                                            450
                                               900



C.  



D.







900



      
900
34.
Which pair of shapes is congruent?









A.   
 
     B.
        
        C.
     
               D.            
e      E.  NH





Congruent = means same shape and same size

35.
Which figure shows a line of symmetry?

Symmetry – Balance in 










         arrangement 


a.


 
   b.



       


c.






   d.




36.
Identify the right angle.



a.    

b.   


    c.      

 d.   







Right angle is 90 degrees

37.     If you turn this figure 90 degrees clockwise, how would it look? 

                                              

                                            This is how it looks turned                        





  90 degrees clockwise

